Commerce
Paper 11

TSy

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.
AT : A1 TRAehd TR TR (50) SgUEREN U fooidl oTRd. e TRl g (2)
0 . W Y gredl.

1 e, involves allocating | 1. UTETI%HHA WA ST WA AT
organisational resources according Y G aed S0 a9 ol
to a system of priorities. | e 2.
(A) Rationing (A) Thaarea ()
(B) Anticipation (B) gafTeRm
(C) Buffering (C) d1al &

(D) Levelling (D) UrdesiehTul (FThRT0T)

The process of analysing the
environment for identifying the
factors which may influence the

business is termed as :

(A) Environmental scanning
(B) Environmental monitoring
(C) Environmental forecasting

(D) Environmental assessment

A G %% IHUR HHh
fruffa oISt qatarome fagas

HLOAT=AT YR

TEUTATd.
(A) TIEROT HYA
(B) "AfeROT qIaeyor

(C) A& QaigaH
(D) TRl HeIHTIA
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............................ is the main
ingredient of population control

policy.

(A) Higher Education
(B) Primary Education
(C) Female Education
(D) Adult Education

The system by which companies
are directed and controlled is

called :

(A) Good Governance

(B) Corporate Governance
(C) Ideal Management
(D) Effective Management

All the activities of an economic

system are undertaken to :
(A) increase national income
(B) satisfy human wants

(C) eradicate poverty

(D) generate employment

(A) =g foreqon

(B) wigfaer fomeqon
(C) St foemor
(D) dre ferero

HuaE s 9 Ay woamEet
7 QUMAT=T aT9Y el Sral faan

(A) gemed

(B) JHESEI IMEA
(C) TEY HaEATIH

(D) 99TET SFEEATIH

FdFTIdd 9 HE I HEd

I ILIM hell STAra.
(A) TS 3O a6

(B) OH&t TRSE HHIGH L0

(C) <t Fiefer

(D) JSPRFH
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The short-term analysis of financial
statements is mainly concerned

with :

(A) stability of the concern

(B) earning potential of the concern

(C) working capital analysis

(D) analysis of dividend paying

capacity

Low turnover of stock indicates :

(A) monopoly situations

(B) solvency position

(C) more than required investment

in inventory

(D) lack of understanding of

marketing situations

(A) Fe&r= st

(B) U= SO WIS TS
(C) IAvTSgar= fagersomsh

(D) TN4ET < e fagersonsh

(A) THIIHREEEY TR

(B) eTfefer gge

(C) THYUTSATd STMavThaual 3Tferh
HRELED
(D) foquafaszes gRfterd=n Srofie=n

AU
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10.

When ratios are calculated from
financial statements of one year, it

is termed as :

(A) Horizontal Analysis
(B) Vertical Analysis
(C) Internal Analysis
(D) Ratio Analysis

Increase in the amount of creditors

result in :

(A) increase in cash

(B) decrease in cash

(C) no change in cash

(D) increase in non-cash items

The budget which usually takes the
form of Budgeted Profit and Loss
Account and Balance Sheet is also

known as :

(A) Flexible Budget
(B) Master Budget
(C) Cash Budget

(D) Purchase Budget

10.

SRl Wk gen=ar fafwa faavom=n

STYNER 31 Feifia ool Sia@ e

(A) fadfs g foveiom

(B) 3 foreeismn

(C) Fqiid fegeioo

(D) erarq fergetson

RO AT BT oére Whferd

(A) @ W 96
(B) I@ &Hd w2
(C) U@ UG SV IREdA gid ATl

(D) TR @ =qrEd =16

S STCNTYSIeh Yo ev-grMl foerm

desagr= TR ®ET shel S, el
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11. Production may be defined as an

act of :

(A) creating utility
(B) earning profit
(C) destroying utility
(D) providing services

12. The law which states — “supply
creates its own demand”, is called

as :

(A) J.B. Say’s law

(B) Marshall’s law
(C) Adam Smith’s law
(D) Robbins’ law

13. Law of diminishing returns of factors

is relevent to :
(A) Short period
(B) Long period
(C) Secular period

(D) Both short and long periods

12. Y@l 3Uc AFON T&a: fEfor .

(D) Ufe=g=n 1w

13. 3Tfier Sehr=a S WarsarEn W

(C) TTUsTHTea=f
(D) 3Tcq 27for <relehTed a1 Srareh
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14. The annual increase in real per

15.

capita income of a country means :
(A) economic growth

(B) economic development

(C) economic change

(D) economic progress

A firm

practising price

discrimination will be :

(A) Charging different prices for

different qualities of a product.

(B) Buying in the cheapest and

selling in the dearest markets.

(C) Charging different prices in

different markets for a product.

(D) Buying only from firms selling

in bulk at a distance.

(A) i Tt

(B) amféien faerg
(C) emféies afEdH

(D) snfdfer gt

~

15. TER! SHFGHE e Sieg] JeAfaaeeTs

(A) IcarcAr=a f= ToeRiar SfTerTes

YR TRl ST

(B) I @&l WK <0 9 foshl Ham

U= SSRUSd shell STd.

(C) UHTE IcUTEATHIIAT dma TEd1

SSRUSd AT Hod T

ST

(D) holed T el HEARSH Hicdl
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16.

17.

18.

If X + Y = constant, then correlation

coefficient between X and Y is :
A) 1

B) 0

C) -1

D) 0.5

The regression coefficient of Y on X

and X on Y have :

(A) the same algebraic signs
(B) the opposite algebraic signs
(C) always positive signs

(D) always negative signs

The arithmetic mean of a group of
20 observations is 60. If each
observation is doubled and value
20 is added to it, new arithmetic

mean will be :
(A) 130
(B) 120
(C) 135

(D) 140

16.

17.

18.

FEB -
S X+ Y =3Ea @ X Y

il HeddY WU
3R,

A) 1
(B) 0
C) -1
(D) 0.5

Y ®& X o’iel GHISEU HEueh ST
X W& Y S qHISAu §eeh At
o el

(A) T YhREl S fo=
(B) fars YRl stewmuE fa=

(C) &4
(D) *=u

20 TRem= TRfUda wed 60 TS
T g R g wEd &Hed 20

g faRerm amefoct, @ F99 ST

(A) 130
(B) 120
(C) 135

(D) 140
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20.

21.

(A) S.D.of set s; = —S.D. of set s,
(B) S.D. of set s; = S.D. of set s,
(C) SD.of set sy =S.D. of set s =0
(D) S.D. of set sy > S.D. of set s,

Suppose that for an exhibition of
6 students are to be selected from
each of 5 divisions. In this case most
appropriate sampling method to be

used is :

(A) non-random sampling
(B) systematic sampling

(C) stratified sampling

(D) simple random sampling

Which pattern reflects a pure

executive form of management ?
(A) Functional

(B) Line

(C) Line and Staff

(D) Committee

(C) sy He=r FHI fqa@or = s, HeM
g feror =

(D) s, He=ME FHO0 @@ > s, WA
ECILERI|

20. TS Tehl USUAMEET 5 qhSATHYA
et 6 fomnefl faem= oRa. ofem
Rferda g Fag=
& Ugd el A 3R

(A) Gl T

(B) HIEqT&G Y

(C) wia agfeseh IHI

(D) el Aok AT

21. Wi HIA AIEATYT TGt

o~

SRR T FEIIA e 9reh

e ?

(A) Torareas

(B) HEcsl oo
(C) HrEed afr e
(D) wfewdt
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22. Which of the following theory is
closely related to the bureaucratic

theory of organisation ?

(A) Scientific management

(B) Administrative theory

(C) Human relation theory

(D) System’s approach theory

23. The hallmark of leadership is :

(A) achievement of goals of the

organisation

(B) settlement of disputes in the

organisation

(C) capacity to influence others to

follow

(D) maintaining the core values of
the organisation and its

distinctive identity

22.

23.

FEB -

ETATeAdsh] HIoTdT fogT=d TEea=a

MREmEl fagr<reit g el

e ?
(A) I Faea=
(B) a9l WTES A fagr

(C) gFet oy fagr

~

(D) e gt Tagr
:'(1(‘0”';:\{ 5||'\ q')‘l'\ '_6 l-sul\fl .......................
T

(A) TeeT=a Sfesemn gt

(B) Huedid faar= 9Hem

(C) eI YT TSATvaTat

&THdl

(D) FoeA=a1 & H{odia 9 w@ad

EIcEERSGRICTU
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24. Effective communication is
measured through :
(A) Feedback
(B) Reporting (B) 3T@dll HEHeRLu
(C) Response (C) yfdure
(D) Decoding (D) FeIM= Ihd
25. By which committee recommenda- | 25. @Il Hidea RreERei=n =9
tions the concept of corporate THEG YRIEATE Heheddl TR
governance came into force : et ?
(A) Batra Committee (A) <= it
(B) Sachchar Committee (B) H==R) w|fHdt
(C) Cadbury Committee (C) hea’t Gt
(D) Kothari Committee (D) ISRl Hfidt
26. The concept of marketing that | 26. TIERUE M T Hed @og M0
promotes clean and healthy qyTHd  ararexerear HfEdEEt s
environment by reduction of fIqUE Hehedrel a9 whell Sl faa
ecological degradation is called as : | T TEUrArd.
(A) environmental marketing (A) gIiEeg faque
(B) green marketing (B) =@ fogum
(C) clean marketing (C) =3 faquH
(D) ecological marketing (D) Sfaw faqum
10
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FEB -

27. Successful marketing orientation | 27. I¥TA  FNRAIT  fAfH IS
requires : (WW) .......................... a{T
(A) understanding the customer I CRRETIIC T

requirement (A) TGN TS FHSH Hugret
B lopi itabl keti N N N
(B) developing suitable marketing B) GE SRS e e
strate
& HLTATE
(C) market intelligence - . .
(C) dNRYSHE Il
(D) shared values and beliefs .
(D) |, Hed o 9HS A=l
28. The principal center of effective
28. YuEl AR fagume wewyul &%
marketing mix is :
1%0]@[ .......................... _Eﬁ_q‘,
(A) identifying right pricing policy
(A) Sfea fraa gror ffvea &
(B) develop the appropriate
. (B) deRUSH A Heaurl fasfyd
marketing theme
HT
(C) the mix should match the
customer needs ©) e A9 o THe e 6y
o HiEo
(D) develop a competitive
11 [P.T.O.
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29. The segments that company chooses | 99 &9y doMUS Y0 TR F&T HI
to serve by designing special = IS S AT S R
marketing mixes are called as : S s T =,

A lated ket . en o
(&) regulated marke (A) T 9SS
(B) special market

(B) o <SIUS
(C) concentrated market - .

(C) hxId dSRY3
(D) target market

(D) &N WSS

30, e is a legal contract
in which the manufacturer or the | 30- BT ST SR AR A
producer and the intermediary agree SAEE Scleeh stere fefar snfor weare
to each members rights and el HEHd T gFh ST SIfeamet
obligations. Il Q.

(A) Franchising (A) H=aresil
(B) Dealership (B) fama
(C) Sole Selling Agency (C) THhE faEt ufared
(D) Exclusive Distributorshi
P (D) THHe foraten

31. Adequate workin capital ) )

q g p 31 T welEael TR
determines ..........cccceeevveneennen. solvency & .
of the firm. i ’
(A) long-term (&)
(B) short-term (B) SFeqhrei
(C) medium-term (C) HeHhIEH
(D) periodic (D) 999 W 9917

12
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32. Market impact analysis helps in

achieving objective.

(A) value maximisation
(B) tax savings

(C) moderate dividend
(D) timely decision-making

33. The process of managing the sales

ledger of a client by a financial

service company is called :
(A) leasing

(B) forfeiting

(C) factoring

(D) securitisation of debt

34. The best suited fund to the business

people is :

(A) Income fund
(B) Balanced fund
(C) Taxation fund

(D) Growth fund

32.

33.

34.

IR W HOIE A Bl

(A) eI HEHIHLT
(B) T S

(C) | R

(D) et o s

TRl AfyTaT=al faswaend yfeas=

AT HOA qfhad

9 WUE.

(A) HEUST=l TR
(B) STwdilehol

(C) Urafags TSdiehiol (HaRIT)
(D) heitd gfdayieR

AR TEIed STHUN Faid
ARY ST TERMH o
R,

(A) 3@ GO

(B) Sqferd qeEafet
(C) HUfYsId qTEqRen
(D) g5t fomm e

13
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35.

36.

A combination of forwards by two
counterparties with opposite but

matching needs is called :
(A) Swap

(B) Option

(C) Forward

(D) Future

Human Resource Management is a
part of management which is

concerned with :

(A) people at work and with their

relationship  within an
enterprise
(B) planning, organising and

controlling of the procurements,
compensation of human

resource available

(C) the people dimension limited to

wage administration

(D) process of making effective use

and allocation of work

35.

36.

<A grERfaq e qan=ATael Wy

ThHBA TR T SOl are

TEUTTA.

(A) SIcAERE= R (Swap)
(B) fohed *IR (Option)
(C) d™El R (Forward)

(D) Yt &R (Future)

et THYH ORI 8 AL

(A) HETY THUR &ish for o=
ST STHUMR Tae]

(B) Ol 9HIEE U shed M1 arg
AFEA 9 Hegen <U &S Ay
fem enfor geeq

(C) S YT HIFel Foeieh

(D) HTHETE JTT greq 3T gYrat

IO Gieha

14
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37.

38.

Human Resource Management

objectives is combination of :

(A) functional and personnel

objectives

(B) societal, governmental and

organisational objectives

(C) local, state and international
objectives

(D) societal, organisational,
functional and personnel
objectives

Compensation function ensures :

(A)

fair remuneration to employers

and employees

(B) reasonable, justifiable remune-

ration for employers

(®))

equitable and fair remuneration

for employees

(D) reasonable remuneration to all

stakeholders

37.

38.

FEB -

! T TR SE § Wi

I T 3T

(A) Twrarcaes anfor sH=ErifoTEs g

(B) QISR I A0 FeeATHS

SEe

(C) Tenfien, icii™ STIfUT ST SEee

(D) \HIfSieh, TEReATHS, foharae afur

n

FHIARI [T L

Mocdl STITAT H1Iid BR IEIE

(al [

(A) WTeTeh A0 A=A g 3fd

Hegen 0

(B) ATGehT=AT GEhHNA 3fad =M

Heagen 0

(C) HHATATA TRIBMNT FHEqU

afor Sfeq Hiegen <o

(D) GEdEfyd ekt T Hidedl

<o

15
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39. Succession planning refers to :

o~ N

BEISE

39. 3ITfERT 7 &I HEA

40.

(A) the process of selection and
recruitment for key positions in

the organisation

(B) the process and actions that aim
at identifying and developing a
pool of potential successors for

key jobs in future

(C) the process of performance

evaluation of individuals

(D) the process of ensuring suitable
supply of individuals for current
positions considering future

needs

Close ended performance appraisal

system is used in :

(A) Cooperative organisations and

private organisations

(B) Private organisations and

multi-national organisations

(C) Government organisations and

public enterprises

(D) Multi-national organisations

(A) HEeda Heequl deedial Widl &

fragi=it uferan

(B) wfasard 3Iuctsdl Som=a1 HEequ
TSI WaH STl Iy

anfor foeRtd wTva=l R

(C) TEmET=AT hrAqedrshTal Ffshan

(D) TEA=AT ATEl TS ARTd B
TR ST AT T&H

SUGENT= qRaSar= Ufeha

40. dfes °h|¢i'ic'¢li°h'-l ST
JEE AL .
(A) et guear erfor wirer
TEEA

(B) TS WEeAr Sfoy agIseia

el

(C) FIHRTO FeEeAT Ity gre st

HeeAl

(D) SIS HHeT

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

FEB -

41. The biggest constraint in E-banking | 41. $-TfeehIsom= G JOR Helid
o TR ST TGO s
(A) Start-up cost o
(B) Maintenance cost (A) SR =T/ A
(C) Training cost (B) - =
(D) Security cost (C) wiieor =1
42. The minimum paid up capital D) g =
prescribed for setting up of a new | 42. 7 AR YA T HITAHS!
banking company is Rs. ............. fraM <9 wigae "l
crores. FAS TIY 3R,
(A) 200 (A) 200
(B) 300 (B) 300
(C) 100 (C) 100
(D) 50 (D) 50
43. Reserve Bank of India is the banker | 43. TEd & 3% sfean & sHAMNT TS
to the Government when it : U =4 =
(A) controls the credit (A) vafafHdieie f=eo
(B) advices the Government (B) AT Hoell <01
(C) issues loans and treasury bills (C) IMEATHEAN st ATOT SHIST
on behalf of Government g:cﬁ% ICHUEE]
(D) issues currency notes (D) TAS/FeA R
17 [P.T.O.
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44. The maximum period for which | 44. sifuenvuneafaiea fafaa dan gefaomrn
deposits can be obtained by a FI9R 3 9T HITITAT HeE<H
non_banking finanCial Company W%ﬂ. .......................... a.§ 3:”%_’

IS tireeeeerciirreeeeeeens years A) T
(A) five
(B) 313
(B) eight
° (©) @
(C) three
(D) <=1
(D) ten
45. H3=AT AMUA-YIGSATAT  ATERTE

45. The exchange rate fixed on the e B 1 >
basis of demand and supply of | ... = o
currencies is called .........cccceevveeennnnen.
rate. (A) T
(A) flexible (B) &=
(B) forwards (C) ®e
(C) floating (D) sgfaa
(D) multiple 46. S HYN SIfaeR TEIEA ST ST

46. A company that links global STSTRYST FHT TR YT OIS TehfAd
resources with global markets at GPT‘*T{ AN ‘ et ffe,
profit, produces, markets and invests EER o7 T[Tl AR TR
across the world in an integrated TEAE i I Tder
manner is : ST T
(A) Transnational Company (A) sTadeia HoT
(B) Government Company (B) V&I I
(C) Domestic Company (C) Trmfer ot
(D) Public Limited Company (D) wresiTen Hu

18
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48.

is a double entry

system of record of all economic
transactions between residents of a
country and rest of the world carried

out in a specific period of time.

(A) Balance of Payment

(B) Balance of Trade

(C) Currency Balance

(D) Current Account Balance

The risk associated with the
host Government’s action like

confiscation, nationalisation,

domestication is :

(A) economic risk

(B) political risk

(C) business risk

(D) administrative risk

48.

oo

[dlR1%<

arfor ¢S 9T Ewr=Arard

FHTaraeidid mfefes =geagr=n gl

TEA helell HAENET Fig 3R,
(A) HTRR I

(B) =AMR AW

(C) = T

(D) =Te] @d 2o

ISTHM QU STwdl, USerieRiur St

TTTTeh 1eh 0T AT YRUMcHh ST THeA
.......................... aq_g W,
(A) a7iffer ey

(B) TS&hid SR

(C) FEEfTeh Sy

(D) UIMHEhT G

19
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49. The introduction of existing | 49. T@EmEn fasfad I TEIfuq STEUR
technologies to other countries by TAAT TEAT SIMAT  ATIAT IR
a developed country through forr=ar gsd IudTsyl F&A QU
international business operations WS 2.
Is : (A) T SR
(A) technological upgradation (B) TR atERm
(B) technological environment (C) T TR
(C) technological transfer (D) TITE foEA
(D) technological development 50. HNIYSTAYRbTAT THA o Hoard e
50. Long term contracting out of non- ZITITHTS] Tzgq raqifas fea
core business processes to an outside CIEDBCPIE NI P EA NI gqcﬁ =1
provider to help achieve increased FUIGATIT ITASE] FHEF < TITH]
shareholder value means SRR e e e
(A) business process reengineering (A) TaEEURA GRS
(B) business process operation (B) HaEmaufeRan fomam<em
(C) knowledge process outsourcing (C) TFYTHAT STETEIAoT
(D) business process outsourcing (D) HIIEIHAT AEAETHIAL]
20
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ROUGH WORK

21 [P.T.O.
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